2 i e 2 e |
| | | Working Mathematically !
4 + 3 + 3 = : : |
| X |
' R Q |
: I SoQ So So :
1l o+ 4+ 1 = ! l
! —— 1} 1) How many eggs are ’rher‘e:
! : | altogether? |
: e :
1+ 2 + 1 = E | 2) Greg has 4 blue pens, 3 !
! — ! ' red pens and 5 black pens. !
: : | How many pens does he :
I I ) I
1l 2 + 8 + B = : | have: |
| —— |rTTTTTT T e ¥
] | 13) 'Scott' family pets: |
| ' Birds = 3 !
1 + 2 + 3 = |

! _— i ! Dogs = 2 i
: ¥ Cats=5 :

b

E >+ 0 + B - |1 How many pets does the E
I ——— 1 Scott family have? |
I L -
| 114 |
| : |
1l 1+ 2 * 4 & I J
: ’ '
| | |
| - |
I | |
| 3 + 3 + 4 = : |
| - |
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